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   GENERAL INSTRUCTIONS IN EXAMINATION HALL 
 

A. General : 

1. This Question Paper contains 75 questions. Please check 

before starting to attempt. Physics (1 to 10),  Biology (11 to 20), 

Chemistry (21 to 30), Maths (31 to 60), Mental Ability (61 to 75)  

v- lkekU; % 
1. bl iz'u&i=k esa 75 iz'u gSaA Ñi;k ijh{kk 'kq: djus ls igys tk¡p ysaA 

HkkSfrd foKku (1 ls 10), tho foKku (11 ls 20), jlk;u foKku  

(21 ls 30), xf.kr (31 ls 60) , ekufld ;ksX;rk (61 ls 75)  

2. Space is provided within question paper for rough work 

hence no additional sheets will be provided. 

2. jQ dk;Z djus ds fy, iz'u&i=k esa gh LFkku fn;k x;k gS vr% 

vfrfjDr :i ls dksbZ 'khV ;k isij ugha fn;k tk,xkA 

3. Blank paper, clipboard, log tables, calculators, cellular 

phones and electronic gadgets in any form are not allowed 

inside the examination hall. 

3. [kkyh dkxt] r[rh] y?kqx.kd lkj.kh] dsYdqysVj] lsy Qksu ,oa 

fdlh Hkh izdkj ds bysDVªkWfud xStsV ijh{kk gkWy esa ykuk oftZr gSA 

4. The answer sheet, a machine-gradable Objective 

Response Sheet (ORS), is provided separately. 

4. mÙkj iqfLrdk] vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ tks fd e'khu 

}kjk tk¡ph tk,xh] vyx ls iznku dh xbZ gSA 

5. Do not Tamper / mutilate the ORS or this booklet. 5. vks-vkj-,l- ;k iz'u&i=k dks fdlh Hkh izdkj ls dkaVs&NkaVs ;k eksM+s ughaA 

6. Do not break the seals of the question-paper booklet before 

instructed to do so by the invigilators. 

6. iz'u&i=k dh lhy rc rd ugha [kksysa tc rd fd fujh{kd }kjk 

funsZ'k ugha fn, tk,saA 

7. SUBMIT the ORS to the invigilator after completing the test 

& take away the test paper with you. 

7. ijh{kk lekIr gksus ds ckn vks-vkj-,l- 'khV fujh{kd dks lkSais rFkk 

iz'u&i=k vius lkFk ys tk,saA 

8. Any student found/reported using unfair means to improve 

his/her performance in the test, shall be disqualified from 

STaRT-2020. 

8. ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus ds fy, vuqfpr lk/kuksa dk 

iz;ksx djrk ik;k x;k ;k ,slk lwfpr fd;k x;k rks og  

STaRT-2020 ds fy, v;ksX; gksxkA 

B.  How to fill Objective Response Sheet (ORS) for filling 

details marking answers: 

9. Use only HB Pencil for filling the ORS. Do not use 

Gel/Ink/Felt pen as it might smudge the ORS. 

c- vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ esa fMVsYl rFkk mÙkj vafdr 

djus ds fy, fuEu izdkj Hkjsa % 

9. vks-vkj-,l- Hkjus ds fy, dsoy HB isafly dk gh iz;ksx djsaA 

tsy@L;kgh@QsYV isu iz;ksx ugha djsaA 

10. Write your STaRT-2020 Student Registration No. in the 

boxes given at the top left corner of your ORS with 

blue/black ball point pen. Also, darken the corresponding 

bubbles with HB Pencil only. 

10. viuk STaRT-2020 fo|kFkhZ jftLVªs'ku Øekad vks-vkj-,l- 'khV ds 

ck;sa dksus esa fn, x, LFkku esa uhys ;k dkys ckWy isu ls HkjsaA lkFk gh 

Øekad ds vuqlkj uhps fn, x;s xksyksa dks Hkh HB isafly ls xgjk djsaA 

11. If any student does not fill his/her STaRT-2020 Student 

Registration No. correctly and properly, then his/her ORS 

will not be checked/evaluated. 

11. ;fn dksbZ fo|kFkhZ viuk STaRT-2020 fo|kFkhZ jftLVªs'ku Øekad 

lgh ,oa Bhd <ax ls ugha Hkjrk gS rks mldh vks-vkj-,l- dks 

pSd@ewY;kafdr ugha fd;k tk,xkA 

12. Since it is not possible to erase and correct pen filled bubble, 

you are advised to be extremely careful while darken the 

bubble corresponding to your answer. 

12. vks-vkj-,l- esa fn, x, xksyksa dks ;fn ,d ckj ckWy isu ls xgjk 

fd;k tkrk gS rks mls feVkuk laHko ugha] blfy, fo|kFkhZ iwjh 

lrdZrk ls gh xksyksa dks xgjk djsaA 

13. Neither try to erase / rub / scratch the option nor make the 

Cross (X) mark on the option once filled. Do not scribble, 

smudge, cut, tear, or wrinkle the ORS. Do not put any stray 

marks or whitener anywhere on the ORS. 

13. ,d ckj fdlh fodYi ds xksys dks xgjk djus ds ckn feVkus ;k   

[kqjpus dk iz;Ru ugha djsaA vks-vkj-,l- 'khV ij fdlh izdkj ds 

/kCcs] xUnxh ;k flyoV u yxus nsa vkSj u gh bls eksM+sa ;k dkVsaA 

14. If there is any discrepancy between the written data and the 

bubbled data in your ORS, the bubbled data will be taken as 

final. 

14. ;fn fdlh lanHkZ esa fyf[kr ,oa xksyksa esa vafdr tkudkjh esa varj ik;k 

x;k rks xksyksa esa vafdr tkudkjh dks gh izekf.kd ekuk tk,xkA 

C. Question paper format and Marking scheme : 

15. For each right answer you will be awarded 4 marks if you 

darken the bubble corresponding to the correct answer and 

zero marks if no bubble is darkened. In case of bubbling of 

incorrect answer, minus one (–1) mark will be awarded. 

l- iz'u&i=k izk:i ,oa vad iznku fu;e %  

15. izR;sd mÙkj ds fy, 4 vad fn, tk,xsa ;fn lgh xksys dks xgjk 

fd;k x;kA ;fn xyr xksys dks xgjk fd;k x;k rks ¼–1½ vad dkVk 

tk,xkA ;fn fdlh xksys dks Hkh xgjk ugha fd;k x;k rks 'kwU; vad 

fn;k tk,xkA 
 

Best of Luck 
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Space  for  Rough  Work (dPps dk;Z ds fy, LFkku) 

PART - I (PHYSICS) Hkkx - I ¼HkkSfrd foKku½ 
 

Straight Objective Type  
This section contains (1-10) multiple choice questions. Each question has choices (A), (B), (C) and 
(D) out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  
bl [k.M esa (1-10) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA 

 

1. If a man cannot see distant objects clearly he suffers from which defect of vision ? 
 (A) short sightedness     (B) long sightedness 
 (C) defect due to old-age   (D) none of the above 

 vxj fdlh O;fDr dks nwj dh oLrq,a lkQ&lkQ fn[kkbZ iM+rh gks rks mls fdl izdkj dk nf̀"V nks"k gS \ 

 (A) fudV n`f"V nks"k    (B) nwj nf̀"V nks"k 
 (C) tjk n`f"V nks"k     (D) buesa ls dksb Hkh ugh 
 
2. The least distance of distinct vision for a normal human eye is.  

 lkekU; ekuoh; vk¡[k ds fy, Li"V n`f"V dh U;wure nwjh gSA   
 (A) 250 cm (lseh-) (B) 40 cm (lseh-)  (C) 25 cm (lseh-)  (D) 1 m (lseh-) 
 
3. In which manner the energy is transformed in an electric-cell  
 (A) Electrical energy to chemical energy   (B) Chemical energy to electrical energy 
 (C) Light energy to chemical energy   (D) Electrical energy to light energy   
 ,d fo|qr lsy esa ÅtkZ dk :ikarj.k fdl izdkj gksrk gS \  
 (A) fo|qrh; ÅtkZ dk jklk;fud ÅtkZ esa   (B) jklk;fud ÅtkZ dk fo|qrh; ÅtkZ esa   

 (C) izdk'kh; ÅtkZ dk jk;kfud ÅtkZ esa   (D) fo|qrh; ÅtkZ dk izdk'kh; ÅtkZ esa 
 
4. The walls of a dam are specially thickened at the base to  
 (A) withstand huge pressure of water  (B) withstand earthquake 
 (C) withstand the sound waves   (D) none of these 

 ck¡/k dh nhokj vk/kkj ij [kklrkSj ls eksVh cukbZ tkrh gS rkfd  % 
 (A) og laxzfgr ty ds Hkkjh nkc dks lgu dj lds (B) Hkwdai ls vizHkkfor jgs 
 (C) /pfu rjaxksa dks lg lds   (D) buesa ls dksbZ ugha 
 
5. The thunder of a lightening in the sky is heard 10 second after the flash of light. If the speed of sound is 

330 m/s, the distance of lightening is :  

vkdk'k esa fctyh ¼rfM+r½ dh ped ns[kus ds 10 lsdUM ckn es?k xtZu lqukbZ iMrk gSA vxj /ofu dk osx  
330 m/s, gks rks rfMr dh nwjh gksxhA  

 (A) 3.3 km (fdeh-)  (B) 33 km (fdeh-) (C) 330 km (fdeh-) (D) 3300 km (fdeh-) 
 
6. In pressure cooker the material gets cooked fast as – 
 (A) the heat energy increases   (B) the boiling point of water increases due to pressure 
 (C) food item get broken due to pressure.  (D) None of the above 

 ,d izs'kj&dqdj essa nky tYnh xy tkrh gS D;ksafd& 

 (A) dqdj esa rki dk ifjek.k c<+ tkrk gS   (B) nkc ds dkj.k ty dk mcky fcUnq c<+ tkrk gSA  
 (C) ncko ds dkj.k nky dk fo[kaMu gksrk gS  (D) buesa ls dksbZ ughsa 
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Space  for  Rough  Work (dPps dk;Z ds fy, LFkku) 

7. The balloon stops rising up beyond a particular height when the density of gas inside the balloon : 
 (A) exceeds the density of air outside  (B) equals the density of air 
 (C) becomes less than the density of air  (D) none of the above 

 ,d fu'pr Å¡pkbZ ij ig¡qpdj xqCCkkjk vkSj Åij ugha tkrk D;ksafd xqCckjs ds Hkhrj xSl dk ?kuRo  : 
 (A) ckgj dh gok ds ?kuRo ls c<+ tkrk gS  (B) ckgj dh gok ds ?kuRo ds leku gks tkrk gS 
 (C) ckgj dh gok ds ?kuRo ls ?kV tkrk gS   (D) buesa ls dksbZ ugha 
 

8.   To slide a book which is placed flat on a desk is an example of :   
 (A) fluid friction  (B) rolling friction (C) static friction (D) sliding friction 
 ,d fdrkc dks est ij j[kdj f[kldkuk mnkgj.k gS % 
 (A) rjy ?k"kZ.k dk  (B) yksVfud ?k"kZ.k dk  (C) LFkSfrd ?k"kZ.k dk  (D) lihZ ?k"kZ.k dk  
 

9. The length of milky way (in light year) is :  

 vkdk'k xaxk dh yEckbZ ¼izdk'k o"kZ esa½ gS : 
 (A) 103    (B) 104    (C) 105    (D) 106 
 

10. Our earth rotates around the sun on which type of path 
 (A) circular   (B) elliptical  (C) serpentine  (D) hyperbolic 

 i`Foh lw;Z ds pkjksa vksj fdl rjg ds iFk ij ?kwerh gSA  
 (A) o`Ùkh;   (B) nh?kZor̀h;   (C) lfiZy   (D) gkbickZfyd 

 
 

PART - II (BIOLOGY)   Hkkx- II ¼tho foKku½ 

Straight Objective Type  
 This section contains (11-20) multiple choice questions. Each question has choices (A), (B), 

(C) and (D) out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  
 

 bl [k.M esa (11-20) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 
,d lgh gSA 

 

11. Carbon monoxide is hazardous gas. Inhaling this gas which of the following is affected ? 
 (A) haemoglobin  (B) plasma  (C) cell membrane  (D) plastids  

 dkcZu eksuks vkWDlkbM ,d gkfudkjd xSl gSA blds 'olu ls fuEukafdr esa ls fdl ij izHkko iM+rk gS \ 
 (A) fgeksXykschu   (B) IykTek  (C) dksf'dk f>Yyh (D) yod  
 

12. Diagnostic test for AIDS is - 
 (A) Bidal test (Widal Test)   (B) Lepamin test 
 (C) Alisa test (ELISA Test)   (D) Biopsy  

 ,M~l dh tk¡p fof/k gS & 
 (A) fcMkWy VsLV   (B) ysizkfeu VsLV   (C) ,fylk VsLV   (D) ck;ksIlh  
 

13. The Sex of the child is determined by – 
 (A) Health of mother and father    (B) Male and female both  
 (C) Female     (D) Male  

 larku ds fyax dk fu/kkZj.k gksrk gS & 
 (A) ekrk vkSj firk dk LokLF;    (B) uj vkSj eknk nksuksa  
 (C) eknk      (D) uj  
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Space  for  Rough  Work (dPps dk;Z ds fy, LFkku) 

14. Which of the following are kharif crops ? 
 (A) Paddy and mustard  (B) Paddy and cotton  (C) Mustard and gram  (D) Cotton and mustard  

 buesa ls dkSu&lh [kjhQ Qly gSA 
 (A) /kku vkSj ljlksa   (B) /kku vkSj dikl   (C) ljlksa vkSj puk  (D) dikl vkSj ljlksa  
 
15. Acid rain is formed from water vapour reacting with  
 (A) CO2 and SO2    (B) SO2 and Nitrogen oxide   
 (C) CO2 and Nitrogen oxide    (D) Sulphuric acid 

 ^^vEy o"kkZ** ty&ok"i ds fuEuls fdlds lkFk fØ;k djus ls gksrh gSA 
 (A) CO2 vkSj SO2     (B) SO2 vkSj NO2  

 (C) CO2 vkSj NO2    (D) H2SO4 ¼lY¶;wfjd vEy½ 
 

16. Hot spots are those area where  
 (A) Endemic species is found    (B) Minium biological diversity is observed  
 (C) Climatic temparature is high    (D) Maximum biological diversity is found  

 ^^m".k fcUnq** og {ks=k gSa tgk¡ & 
 (A) LFkkuh; iztkfr;k¡ feyrh gSaA    (B) tgk¡ de&ls&de tSfod QSyko ns[kk tkrk gSA  
 (C) tgk¡ tyok;q&rki mPp gSA   (D) tgk¡ vf/kd ls vf/kd tSfod QSyko ns[kk tkrk gSA  
 
17. Protein synthesis in a cell will not occur if there is abnormality in :  
 (A) The golgi apparatus    (B) The chloroplast 
 (C) The endoplasmic reticulum   (D) The mitochondria  

 dksf'kdk esa izksVhu la'ys"k.k dh izfØ;k :d tkrh gSA ;fn  %  
 (A) xkYthdk; Bhd ls dke u djsa   (B) DyksjksIykLV Bhd ls dke u djsa 
 (C) ,UMksIykfLed jsfVdqye Bhd ls dke u djsaA  (D) ekbZVksdksfUMª;k Bhd ls dke u djsa 
 
18. The human Immunodeficiency Virus is considered deadly because :  
 (A) It destroys the nervous system 
 (B) It increases susceptibility to attack by other pathogens 
 (C) It causes severe bleeding 
 (D) It stops respiration 

 â;weSu bE;quksMsfQf'k,Ulh okbZjl tkuysok ekuk tkrk gS D;ksafd %  

 (A) ;g raf=kdk ra=k dk uk'k djrk gS 
 (B) ;g jksxh dks nwljs jksxtud thok.kqvksa ds vkØe.k ds izfr xzg.k'khy cuk nsrk gS 
 (C) jksxh esa rhoz jDrL=kko gksrk gSA  
 (D) jksxh dks lkal ysus esa ck/kk nsrk gS 
 

19. Which of these facts is true for human gametes : 

 (A) Sperms are motile while ova are immotile (B) Ova are motile while sperms are immotile 

 (C) Both sperms and ova are motile  (D) Both sperms and ova are immotile 

 euq"; esa dkSu&lk rF; lgh gS %  

 (A) 'kqØk.kq pyu'khy vkSj vaMk.kq fLFkj gksrs gSa  (B) vaMk.kq pyu'khy vkSj 'kqØk.kq fLFkj gksrs gSA 

 (C) 'kqØk.kq vkSj vaMk.kq nksuksa gh pyu'khy gksrs gSa (D) 'kqØk.kq vkSj vaMk.kq nksuksa gh fLFkj gksrs gS 
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Space  for  Rough  Work (dPps dk;Z ds fy, LFkku) 

20. Microbes are used in which of the following process 

 (A) Enriching the soil with Nitrogen   (B) Wine preparation 

 (C) Antibiotic synthesis    (D) All of the above  

 fuEufyf[kr esa ls fdl izfØ;k @ izfØ;kvksa esa thok.kqvkas dk mi;ksx gksrk gS %  

 (A) e`nk esa ukbVªkstu dh ek=kk c<+kuk   (B) lqjk cukuk 

 (C) izfrjks/kd nokvksa ds cukus esa    (D) mijksDr lHkh esa 

 

PART - III (CHEMISTRY)  Hkkx- III ¼jlk;u foKku½ 

Straight Objective Type  

 This section contains (21-30) multiple choice questions. Each question has choices (A), (B), 
(C) and (D) out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

 bl [k.M esa (21-30) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 
,d lgh gSA 

 

21. Water is used to extinguish fires involving  - 

 (A) oil.   (B) wood or paper. (C) electrical equipments. (D) petrol. 

 ty dk mi;ksx fuEu ls yxh vkx cq>kus esa fd;k tkrk gS & 

 (A) rsy   (B) ydM+h vFkok dkxt  (C) fo|qr midj.k (D) isVªksy 
 

22.  Calorific value of a substance is measured in-  

 (A) kJ/kg  (B) Kcal   (C) Calories  (D) Jkg 

 inkFkZ dh dSYkksjh ÅtkZ dk ekiu fd;k tkrk gS \ 

 (A) fdykstwy/ fdyksxzke (B) fdyksdSyksjh  (C) dSyksjh  (D) twy fdyksxzke 

 

23. The extremely suffocating and corrosive gas is - 
 (A) CO2   (B) SO2   (C) O2   (D) N2  

 vR;f/kd ne?kksaVw rFkk la{kkjd xSl gS   

 (A) CO2   (B) SO2   (C) O2   (D) N2 

 

24. Petroleum is the main source of - 
 (A)wool      (B) acrylic      (C)silk   (D)cotton  

 isVªksfy;e eq[; L=kksr gS & 
 (A) Åu      (B) ,fØfyd      (C) js'ke   (D) lwr 
 

25. Monomer unit of bakelite is- 

 csdsykbV dh ,dyd bZdkbZ gS & 
(A) C6H5OH & HCHO    (B) C6H5NH2 & CH3OH 
(C) CH3OH & HCHO    (D) C6H5CHO & CH3OH 
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Space  for  Rough  Work (dPps dk;Z ds fy, LFkku) 

26.  The nature of oxides of non-metals is - 
 (A) acidic  (B)neutral  (C) basic  (D) Both (A) & (B) 

 v/kkrq vkWDlkbMksa dk O;ogkj gksrk gS & 
 (A) vEyh;   (B) mnklhu  (C) {kkjh;  (D) (A) rFkk (B) nksuksa  
 

27.  The substance that has cross linked arrangement is  - 
 (A) melamine  (B) PVC  (C) polythene  (D ) Both (A) & (B) 

 inkFkZ ftlesa Økl ca/k gksrs gS & 
 (A) esysekbu  (B) PVC  (C) ikWyhFkhu  (D) (A) rFkk (B) nksuksa  
 

28.  Carpets made of rayon are blended with - 
 (A) cotton  (B)silk   (C)nylon  (D) wool. 

 js;kWu ls cus dkyhu dks cukus esa feyk;k tkrk gS &  
 (A) dikl  (B) js'ke   (C) uk;ykWu  (D) Åu 
 

29. When zinc reacts with copper sulphate, zinc sulphate is formed. It is an example of - 
 (i) Redox reaction    (ii) displacement reaction  

(iii)combustion reaction    (iv)decomposition reaction 
 (A) (i) & (ii)  (B) (ii) & (iii)  (C) (i) & (iii)  (D) All of these 

 tc ftad dkWij lYQsV ls fØ;k djrk gS rc ftad lYQsV curk gS ;g ,d mnkgj.k gS  
 (i) jsMkWDl vfHkfØ;k           (ii) izfrLFkkiu vfHkfØ;k (iii) ngu vfHkfØ;k   (iv) fo?kVu vfHkfØ;k 
 (A) (i) rFkk (ii)  (B) (ii) rFkk (iii)  (C) (i) rFkk (iii)  (D) lHkh 
 

30.  The one that is stored in water is – 
 (A) sodium       (B) lithium  (C) chlorine  (D) phosphorus. 

 buesa ls fdls ikuh esa j[kk tkrk gS & 
 (A) lksfM;e      (B) yhfFk;e  (C) Dyksjhu  (D) QkWLQksjl 
 

PART - IV (MATHEMATICS) Hkkx - IV ¼xf.kr½ 

 

Straight Objective Type  
This section contains (31-60) multiple choice questions. Each question has 4 choices (A), (B), (C) and (D) out of 
which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  
bl [k.M esa (31-60) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA 

 

 

31. If ABCD is a parallelogram, CS and BS are the bisectors of C and B respectively, then the measure 

 of S will be : 

 ;fn ABCD ,d lekarj gS, CS vkSj BS Øe'k% C vkSj B ds lef}Hkktd gSa] rks S dk eki gksxk & 
CD

A B

S

 
 (A) 85º   (B) 90º   (C) 60º   (D) 45º 
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32. A shopkeeper purchased 300 pens and sold one out of four pens at no loss or profit. He sold the 
remaining pens at a profit of 20%. What is his overall profit or loss percent on the whole transaction ? 

 (A) 15% profit  (B) 15% loss  (C) 12% profit  (D) 12% loss 

 ,d nqdkunkj us 300 isu [kjhns o 4 isuksa esa ls 1 dks fcuk ykHk vFkok gkfu ds cspkA ckdh isuksa dks mlus 20%. ykHk 
ds lkFk cspkA bl lEiw.kZ lkSns esa lexz ykHk vFkok gkfu dk izfr'kr D;k gksxk \ 

 (A) 15% ykHk  (B) 15% gkfu  (C) 12% ykHk  (D) 12% gkfu 
 

33. If 3x - 5

2
 = 5.005

2.002
 , then x =  

 ;fn 3x - 5

2
 = 5.005

2.002
 , rks x =  

 (A) 5

3
   (B) 

10

3
   (C) 12.5

3
   (D) 0 

 
34 In the largest nine digit perfect square, the digit at one's place is – 

 ukS vadksa dh cM+h ls cM+h iw.kZ la[;k dk bdkbZ dk vad gS & 

 (A) 0   (B) 1   (C) 4   (D) 9 
 
35. Which of the following is equal to 1 ? 

 (A) 
2

2

(0.11)

(1.1) ×0.1
  (B) 

2

2

(1.1)

(11) ×0.1
  (C) 

2

2 2

(0.011)

(1.1) ×(0.01)
 (D) 

2

2

(0.11)

11 ×0.01
 

 

 fuEu esa ls fdldk eku 1 ds cjkcj gSa ? 

 (A) 
2

2

(0.11)

(1.1) ×0.1
  (B) 

2

2

(1.1)

(11) ×0.1
  (C) 

2

2 2

(0.011)

(1.1) ×(0.01)
 (D) 

2

2

(0.11)

11 ×0.01
 

 
36. If the selling price of 8 articles is equal to the cost price of 10 articles, then the gain or loss percentage 

is - 

 (A) 
10 - 8

×100
8

 gain (B) 10 - 8
×100

8
 loss (C) 

10 - 8
×100

10
 gain (D) 

10 - 8
×100

10
 loss 

 ;fn 8 oLrqvksa dk foØ; ewY; 10 oLrqvksa ds Ø; ewY; ds leku gS] rks ykHk ;k gkfu izfr'kr gS - 

 (A) 
10 - 8

×100
8

 ykHk (B)  10 - 8
×100

8
 gkfu (C) 

10 - 8
×100

10
 ykHk (D) 

10 - 8
×100

10
 gkfu 

 
37. The salaries of A, B and C together amounts to Rs.333. If they spend 80%, 85% and 75% of their 

respective salaries and their savings are in the ratio of 7 : 6 : 9, then their respective salaries are 
 (A) Rs. 102, Rs. 118 and Rs. 113  (B) Rs. 105, Rs. 120 and Rs. 108 
 (C) Rs. 85, Rs. 125 and Rs. 123   (D) None of these 

      A, B o C dh dqy vk; 333 :- gSA ;fn os viuh vk; dk Øe'k% 80%, 85% o 75% [kpZ dj nsrs gS rFkk 
mudh cpr dk vuqikr Øe'k% 7 : 6 : 9 gS rks mudh vk; Øe'k% gksxh& 

 (A) 102 :-, 118 :- o  113 :-   (B) 105 :- 120 :- o  108 :-  
 (C) 85 :-, 125 :- o 123 :-   (D) buesa ls dksbZ ugha 
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38. If b = a + c then 

a b c
x y y

y x x

     
     

    
=  

 ;fn b = a + c gks rks 
a b c

x y y

y x x

     
     

    
= 

 (A) 0   (B) 1   (C) 2   (D) –1 
 

39. 
 
  
9 3 12 7 5 3

× ÷ + ÷ +
4 5 5 8 4 5

 is equal to : 

 
 
  
9 3 12 7 5 3

× ÷ + ÷ +
4 5 5 8 4 5

 cjkcj gS 

 (A) 1
80

69
  (B) 1

80

41
  (C) 2

9

2
   (D) 20 

9

7
 

 

40. If factors of Z2 + Z – 6 = 0 are Z + a and Z + b then the value of a3 + b3  is 

 ;fn Z2 + Z – 6 = 0 ds xq.ku[k.M  Z + a o Z + b gks rks  a3 + b3  dk eku gksxk % 
 (A) – 19   (B) 35   (C) 19   (D) – 35  
 
41. If a number x is divided by 95, then remainder is 30. If the same number x is divided by 5, then what is 

remainder ? 

 ;fn fdlh la[;k  x dks 95 ls foHkkftr fd;k tkrk gS] rks 'ks"k 30 cprk gS] fQj mlh la[;k x dks 5 ls foHkkftr 
djus ij 'ks"k D;k cpsxk ? 

 (A) 2   (B) 3   (C) 4   (D) 0 
 
42. A lawn is the form of a square of side 30 m.  A cow is tied with a rope of 10 m to a pole standing at one 

of its corner. The maximum area of the lawn grazed by this cow is : 
 (A) 300 m2  (B) 150 m2  (C) 78.5 m2  (D) 450 m2 

 ,d ?kkl dk eSnku 30 eh. Hkqtkokys oxZ dh 'kDy dk gSA blds ,d dksus ij xM+s [kwaVs ls 10 eh- yEch Mksjh }kjk ,d 
xk; c¡/kh gSA xk; ds }kjk pjs x;s ?kkl ds eSnku dk vf/kdre {ks=k gSA 

 (A) 300 eh 2  (B) 150 eh2  (C) 78.5 eh2  (D) 450 eh2 

 
43. The floor of a building consists of 1500 rhombus shaped tiles and each of its diagonals are 45 cm. and 

30 cm. in length. Find the total cost of Polishing the floor, if the cost per m2 is Rs.4  
 (A) Rs. 610/-   (B) Rs. 810/-   (C) Rs. 405/-   (D) Rs. 450/-  

 fdlh Hkou ds Q'kZ esa leprqHkqZt vkdkj dh 1500 Vkbysa gS] vkSj buessa ls izR;sd ds fod.kZ 45 lseh ,oa 30 lsaeh- 
yEckbZ ds gSa A 4 :i;s izfr oxZehVj dh nj ls bl Q'kZ ij ikWfy'k djus dk O;; Kkr dhft,A 

 (A)  610 :i;s   (B)  810 :i;s  (C)  405 :i;s   (D)  450 :i;s  
 
44. Some toffees are bought at the rate of 11 for Rs.10 and the same number at the rate of 9 for Rs. 10. If 

the whole lot is sold at the rate of one rupee per toffee, the gain/loss on the whole transaction is : 
 (A) Loss 1%  (B) Loss 5%  (C) Gain 2%  (D) Gain 5% 

 dqN VkWfQ;k¡ 10 :- esa 11 dh nj ls [kjhnh x;h vkSj mruh gh VkWfQ;k¡ 10 :- esa 9 dh nj ls A vxj lHkh VkWfQ;ksa 
dks ,d VkWQh izfr :i;k dh nj ls csp fn;k x;k rks iwjs O;kikj ij ykHk@gkfu gqbZ &  

 (A) gkfu 1%  (B) gkfu 5%  (C) ykHk 2%  (D) ykHk 5% 
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45. What price should a shopkeeper Gopal mark on a chair which costs him 1200 so as to gain 12% after 
allowing a discount of 16% ? 

 (A) Rs. 1550  (B) Rs. 1600  (C) Rs. 1800  (D) Rs. 1650 

 nqdkunkj xksiky us 1200 :- esa ,d dqlhZ [kjhnhA ml ij og D;k ewY; vafdr djs ftlls 16% NwV nsus ij Hkh mls 
12% dk ykHk gks ? 

 (A) 1550 :-  (B) 1600 :-  (C) 1800 :-  (D) 1650 :- 
 

46. A circular wire of radius 42 cm is cut and bent it into the form of rectangle whose sides are in the ratio of 
6 : 5. The smaller side of the rectangle is :  

 (A) 30 cms  (B) 60 cms  (C) 72 cms  (D) 132 cms 

 42 lsaeh f=kT;k ds ,d o`Ùkkdkj rkj dks dkVdj mls eksM+dj ,d vk;r cukrs gSa ftudh Hkqtkvksa esa 6 : 5 dk vuqikr 
gS rks vk;r dh NksVh Hkqtk dh yEckbZ dh eki gS & 

 (A) 30 lseh  (B) 60 lseh  (C) 72 lseh  (D) 132 lseh 
 

47. If a number x is divided by 95, then remainder is 30. If the same number x is divided by 5, then what is 
remainder ? 

 ;fn fdlh la[;k  x dks 95 ls foHkkftr fd;k tkrk gS] rks 'ks"k 30 cprk gS] fQj mlh la[;k x dks 5 ls foHkkftr 
djus ij 'ks"k D;k cpsxk ? 

 (A) 2   (B) 3   (C) 4   (D) 0 
 

48. How many lines can be draw through a single point 
 (A) 1   (B) Infinite  (C) Finite  (D) None of these 

 fdlh ,dy fcUnq ls gksdj fdruh js[kk,¡ [khaph tk ldrh gS & 

 (A) ,d   (B) vuUr  (C) ifjfer  (D) buesa ls dksbZ ugha 
 

49. How many numbers are known up till now which is even as well as prime. 
 (A) Two   (B) Five   (C) One   (D) Zero 

 vc rd Kkr fdruh ,slh la[;k gS] tks le ds lkFk&lkFk vHkkT; gS \ 

 (A) nks   (B) ik¡p   (C) ,d   (D) 'kwU; 
 

50. The number of 2-digit numbers, greater than 10, divisible by 2 and 5 but not by 4 or 25 is : 

 2 vkSj 5 ls foHkkT;] ijUrq 4 ;k 25 ls foHkkT; ugh, 10 ls cM+h 2 vadks dh la[;kvksa dh la[;k gS : 
 (A) 2   (B) 3   (C) 5   (D) 12 
 

51. The sum of the digit of a number 10n – 1 is 3798. The value of n is : 

 fdlh la[;k 10n – 1 ds vadks dk ;ksx 3798 gSA n dk eku gS : 
 (A) 422   (B) 431   (C) 501   (D) 673 
 

52. If a = br, b = cs and c = at, then : 

 ;fn a = br, b = cs vkSj c = at, gks rc : 

 (A) rst = 0  (B) rst = – 1  (C) rst = 1  (D) r + s + t = 1 
 

53. If x = a1/3 – a–1/3, then x3 + 3x – a is equal to : 

 ;fn x = a1/3 – a–1/3, gS rks x3 + 3x – a cjkcj gS : 

 (A) a   (B) a + a–1  (C) –  
a

1
  (D) a – a–1 
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54. If 1.6x = 0.4y then the value of 
x y

x y




is – 

 ;fn 1.6x = 0.4y gks rks 
x y

x y




 dk eku gksxk& 

 (A) 1.66   (B) -1.66  (C) 16.6  (D) -16.6 
 

 
55. The HCF of two numbers is 24 and their LCM is 136. The product of two numbers is : 

 nks la[;kvksa dk e-l- 24 gS vkSj mudk y- l- 136 gS A nksuksa la[;kvksa dk xq.kuQy gS : 
 (A) 3264  (B) 3426  (C) 3624  (D) 3625  
 

56. 
3 3

3 1 2 3 1

x y

x y (xy) y x

 

    


 

 is equal to  (cjkcj gS½  

 (A) x + y  (B) y – x   (C)  
1

x
 – 

y

1
  (D) 

1

x
 + 

y

1
 

57. 
1

x
1

1
1

1
1

1
2







 ,  then find the value of 2x + 
7

4
. 

 
1

x
1

1
1

1
1

1
2







 gks rks 2x + 
7

4
dk eku gS 

 (A) 2    (B) 3    (C) 4   (D) 
3

2
 

 

58. A cricketer has a certain average run for 10 innings. In the 11 th inning, he scores 100 runs, and now 
his average run is .increased by 9 runs. Then average of 11 inning is : 

 (A) 10 runs   (B) 20 runs   (C) 11 runs   (D) 21 runs 

 ,d fØdsV ds f[kykM+h dk 10 ikfj;ksa esa dqN vkSlr gSA 11 oha ikjh esa mlds }kjk 100 ju cukus ij mldk vkSlr 
9 ju c<+ tkrk gS rks mlds 11 ikfj;ksa dk vkSlr gS&  

 (A) 10 ju   (B) 20 ju   (C) 11 ju   (D) 21 ju 
 

 

59. A is 7 years older than B. After 4 years, age of B will be half of that of A. The sum of their present ages 
(in years) is: 

 A dh vk;q B dh vk;q ls 7 o"kZ vf/kd gSA 4 o"kZ i'pkr~ B dh vk;q A dh ml le; dh vk;q dh vk/kh gksxhA mudh 
orZeku vk;q dk ;ksx gS : 

  (A) 19   (B) 17   (C) 15   (D) 13 
 
60. The average temperature of first 4 days of a week is 38.6ºC and that of the last 3 days is 40.3º C. The 

average temperature of the week is 

 ,d lIrkg ds izFke pkj fnuksa dk vkSlr rkieku 38.6ºC gSA 'ks"k 3 fnuksa dk vkSlr rkieku 40.3º C gS] rks lIrkg 
dk vkSlr rkieku gS & 

 (A) 39ºC  (B) 38ºC  (C) 40ºC  (D) 39.32ºC 
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PART - V (MENTAL ABILITY)  Hkkx - V ¼ekufld ;ksX;rk½ 
 

Straight Objective Type  
This section contains (61-75) multiple choice questions. Each question has choices (A), (B), (C) and 
(D) out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  
bl [k.M esa (61-75) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA 
 
 

 

Directions : (61 to 63) In the following series numbers/letters are arranged on the basis of some 
principle. Find out the principle and then select the missing term from the given alternatives. 

funsZ'k : (61 ls 63) fuEu Jsf.k;ksa esa vad@v{kj fdlh fl)kUr ds vuqlkj O;ofLFkr gSaA ml fl)kUr dks Kkr dhft;s vkSj rc 
fn;s gq, fodYiksa esa ls yqIr in dks pqfu;sA 

 
61. ZDOA, VHNF, ?, NPLP, JTKU, FXJZ 
 (A) RLKM  (B) MLRK  (C) RKML  (D) RLMK 
 

62. 2, 3, 6, 15, 45, ? 
 (A) 135   (B) 135.5  (C) 157   (D) 157.5 
 

63. _ l m n o k _ m n o k l _ n o k l m _ o 
 (A) l k l m  (B) l l m m  (C) k l m n  (D) m l m n 
 

64. 

9 4 ?
8 6 83 7 10

4 5 6
 

 (A) 0   (B) 4   (C) 8   (D) 18 
 

65. If × means ÷ ; – means × ; ÷ means + and + means – and all other rules in the mathematical operation 
are the same, then which one of the following gives the result of 

 (3 – 15 ÷ 19) × 8 + 6 = ? 

 ;fn × dk vFkZ ÷ ; – dk vFkZ × ; ÷ dk vFkZ + vkSj + dk vFkZ – gS vkSj xf.kr ds vU; lHkh fu;e os gh gSa] rks fuEu 
ifj.kke fdlls izkIr gksxk \ 

 (3 – 15 ÷ 19) × 8 + 6 = ? 
 (A) 8   (B) 6   (C) 4   (D) 2 
 

66. If Perfect is written as 10, 20, 6, 17, 17, 18, 0 what digits does stands for verbal ? 

 ;fn Perfect ds fy, 10, 20, 6, 17, 17, 18, 0 fy[kk tkrk gS rks Verbal ds fy, dkSu lh la[;k,¡ gksxh \ 

 (A) 6, 12, 20, 30, 21, 8    (B) 19, 18, 16, 7, 3, 9  
 (C) 11, 13, 21, 15, 17, 9    (D) 4, 20, 6, 21, 21, 9 
 

67. If the first and second digits in the sequence 5981327438 are interchanged, also the third and fourth 
digits, the fifth and the sixth digits and so on, which digit would be the seventh counting to your right ? 

 ;fn fuEu Jà[kyk Øe esa igyk vad nqljs vad ls] rhljk] pkSFks ls rFkk blh Øe esa vkxs ijLij cny fn;s tk;s rks 
vkids nk;sa ls lkroka vad D;k gksxk ? 

 5981327438 
 (A) 4   (B) 8    (C) 7   (D) 1 
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68. If L denotes x, M denotes ÷, P denotes + and Q denotes –, then 8 P 36 M 6 Q 6 M 2 L 3 = ? 

 ;fn L dks x ls iznf'kZr fd;k tk;s, M dks ÷ ls iznf'kZr fd;k tk;s, P dks + ls iznf'kZr fd;k tk;s vkSj Q dks – ls 
iznf'kZr fd;k tk;s rks 8 P 36 M 6 Q 6 M 2 L 3 = ? dk eku gksxk \   

 (A) 
6

13
   (B) – 

6

1
  (C) 14   (D) 5 

 

69. It being given that : > denotes +, < denotes –, + denotes ÷, – denotes =, = denotes ‘less than’ and × 
denotes  ‘greater than’, find which of the following is a correct statement.  

 ;fn ;g fn;k x;k gks fd > dk vFkZ +, < dk vFkZ –, + dk vFkZ ÷, – dk vFkZ =, = dk vFkZ <, vkSj × dk vFkZ >, gks rks 
fuEu esa ls dkSulk dFku lgh gSA 

 (A) 3 + 2 > 4 = 9 + 3 < 1    (B) 3 > 2 > 4 = 18 + 3 < 2 
 (C) 3 > 2 < 4 × 8 + 4 < 2    (D) 3 + 2 < 4 × 9 + 3 < 3 
 

70. In a row of girls, Mradula is 18th from the right and Sanjana is 18th from the left. If both of them 
exchange their position, Sanjana becomes 25th from the left, how many girls are there in the row ?  
yM+fd;ksa dh ,d drkj esa ènqyk nk;sa ls 18osa LFkku ij gS vkSj latuk ck;sa ls 18osa LFkku ij gS ;fn nksuksa viuh 
fLFkfr;ka cny ysrh gS rks latuk ck;ha vkSj ls 25osa Øe ij gS rks drkj esa dqy fdruh yM+fd;k  gS ? 

 (A) 40   (B) 41   (C) 42   (D) 35 
 

71. If in any code language NATIONAL is written as MZGRLMZO than how is JAIPUR written in that 
language 

 ;fn fdlh dksM+ Hkk"kk esa 'NATIONAL' dks 'MZGRLMZO' fy[kk tk;s] rks mlh dksM+ Hkk"kk esa  'JAIPUR' dks D;k 
fy[kk tk;sxkA 

 (A) QRZKFI  (B) QZRKFI  (C) QZRFKI  (D) QZRIFK 
 

72. If a meaningful word can be formed by rearranging the letters USCALA, the first letter of the word so 
formed is the answer. If no such word can be formed the answer is X. 

 USCALA, ds v{kjksa dks iqu% O;ofLFkr djus ij ;fn ,d vFkZiw.kZ 'kCn cukrk lEHko gks rks] ml 'kCn dk igyk v{kj 
vkidk mÙkj gksxkA ;fn bl çdkj dksbZ 'kCn cukuk lEHko ugha gks rks mÙkj X nhft;sA 

 (A) C   (B) S   (C) A   (D) L 
 

Directions : (73) In the following question consists of five figures marked 1, 2, 3, 4 and 5. These figures 
form a series. Find out the one from the answer figures that will continue the series. 

funsZ'k : (73) iz'u esa] fp=kksa ds nks lewg gSaA iz'u vkdf̀r rFkk mÙkj vkd`fr] mÙkj vkd`fr A, B, C rFkk D ls vafdr 
gSA mÙkj vkÑfr;ksa esa ls ml vkÑfr dk pquko dhft;s tks iz'u vkÑfr esa nh xbZ vkd`fr;ksa dh Jsa.kh dks vkxs c<+k 
ldsA 

  

73. Problem figures leL;k fp=k 

 

x x
x

x

 
 Answer figures mÙkj fp=k 

 

x x

x

x

(A) (B) (C) (D)
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Directions : (74) Figures 1 and 2 are related in a particular manner. Establish the same relationship 
between figures 3 and 4 by choosing a figure from amongst the five alternatives, which would replace 
the question mark in figure (4). 

funsZ'k : (74) iz'u vkd`fr ds izFke Hkkx esa fn;s x;s nwljs fp=k dk ftl izdkj igys fp=k ls lEcU/k gS ogh lEcU/k 
nwljs Hkkx ds rhljs fp=k dk mÙkj vkdf̀r esa fn;s x;s pkj fodYiksa esa ls fdlls lEcU/k gksxkA 

 

74. Problem figures leL;k fp=k 
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 Answer figures mÙkj fp=k 
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(A) (B) (C) (D)  
 

Direction (75): Find odd one out: 

funsZ'k : (75) xyr in Kkr djks : 
 

75. 

(A) (B) (C) (D)
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Space  for  Rough  Work (dPps dk;Z ds fy, LFkku) 

SAMPLE TEST PAPER (CLASS-VIII) 

ANSWER KEY 
 
 

Ques. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 

Ans.  A C B A A B B D C B A C D B B 

Ques. 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 

Ans.  D C B A D B A B B A D A D A D 

Ques. 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45 

Ans.  C A B D C A B B A B D C C A B 

Ques. 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60 

Ans.  B D B C B A B C B A B B A D D 

Ques. 61 62 63 64 65 66 67 68 69 70 71 72 73 74 75 

Ans.  D D C B D D B D C C B A A B B 

 
 
 
 
 
 
 
 


